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CHANDER BHAN MEMORIAL PUBLIC SCHOOL

CLASS - Vi MATHS WORKSHEET

NAME :- ROLL NO. :- DATE:-___

. Find the lowest and greatest prime number between 8 to 20.

. A student multiplied 8536 by 36 instead of multiplying by 63. What will be the
difference between the answer obtained by student and the correct answer?

. The ratio of length and width of the door is 5:3 and its perimeter is 48m. Fin the
measurement of door.

. There are 30 female and 70 male workers in a factory. Find the ratio between
i) Number of male and female workers.
ii) Number of female workers to total number of workers.

. Suhani wants to divide 35 toffees among Geeta and Sangeeta in ratio of their age. Geeta
is 16 yrs old and Sangeeta is 12 yrs old. How many toffees will Geeta and Sangeeta get?

. A fruit seller sold 60kg of fruits on Monday @Rs50/kg, 30kg of fruits on Tuesday
@Rs50/kg and 10kg of fruits on Wednesday @Rs50/kg. Find the total amount of sale
made by him during these 3 days.

. In an election, for being successful candidates need 5,85,700 votes but he could secure
only 4,87,985 votes. By how many votes he lost the election?

. Fill in the blanks:-
i) The sum of odd number is always

ii) A number having only two factor is called

iii) The age of Radha is x yrs and Sarita is 4 yrs younger to her. So age of Sarita is

iv) The smallest natural number is and the smallest whole number is

v) If the product of two whole number is 0, then one of the two numbers must
be
vi) The smallest even prime number is
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9. Arectangular plot of land is 400m long and 250m wide. What is the cost of tiling the plot
at the rate of Rs.8/hundred sq.m?

10. Match the following:-

SHAPES PERIMETER
) a) 10
4
6
Rectangle
i) b) 18
3
Square
iii) c) 20
6

Equilateral triangle
iv) d) 25

N
o)

4

Isosceles triangle
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CHANDER BHAN MEMORIAL PUBLIC SCHOOL
SCIENCE WORKSHEET
CLASS-/

Oxygen(02)
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Water from soil

|

Que 1 MULTIPLE CHOICE QUESTIONS

| Amarbel is an example of -
a) Autotroph

b) Parasite

c| Heterotroph

d) Host
2. The plant which traps a feed on insecis is-

a) Cucuta
b) Rose
c| Pitcher plant

d)sunflower

3. Which of these components of food can be synthesized by plants-2
a)Carbohydrate

b)Fats

c|Proteins

d)All of these

4. Which of these is/are necessary for photosynthesis to takes place-2
a)Carbon dioxide

b)Chlorophyll

c|Water

d)All of these

5. The trapped insect gets entangled in the hair in-

|a)Green plant
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Ib)Insectivorous plants

(c)Grass
(d]None of these

Que2 Name the following :
Two agents of weathering.

The uppermost layer of soil.

The type of soil that can hold more water.

The soil which is a mixture of sand, clay and silt

b A WO N —

. Three agents of soil erosion

Que 3True or False :

I. Canines are meant for tearing flesh.| ]

2. Oesophagus is also known as food pipe.[ ]

3. Mouth cavity contains teeth and salivary glands only.| |
4. Deer is a ruminant.| ]

5. large intesfine is longer than small infestine. | ]

Que4 Name the following :

|. 4 types of teeth.

2. Digestive glands in human body.

3. Acid produced in stomach.

4. Scientist who discovered the working of stomach.

5. The sac like structure present between the small infestine & large intestine in ruminants.

Que5Fill in the blanks:
I. The mode of taking food into the bodly is called

2. In the process of food is broken down in to simpler substances.
3. The canal start with mouth and ends in anus.
4. glands are present in mouth.

5. Saliva helps in the digestion of

in food.

Queb Draw diagram of human digestive system
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v Salivary glands

Mouth Esophagus

Liver
Stomach

Gall bladder Pancreas

| imi_ll Large
intestine intestine
Appendix

Rectum Anus
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CHANDER BHAN MEMORIAL PUBLIC SCHOOL
WORKSHEET OF SOCIAL STUDY ( GEOGRAPHY)
CLASS: 7TH

Ques A. Write the names of weather instruments:

1. Measures the temperature

2. Measures atmospheric pressure
3. Measures the amount of rainfall
4. Show the direction of the wind

Ques B. Give three answers of each question:

1. Forms of precipitation
2. Types of wind

3. Types of rainfall
4. Examples of endogenic forces

Ques C. Our atmosphere is divided into five layers, write their names
starting from the earth’s surface.
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Ques D. Answer in one word:

1. How many types are there of an earthquake weave?

2. Who invented the standard unit of measuring temperature is
degree Celsius?

3. Name the place in the crust where the movement starts?

4. Name the highest waterfall of Venezuela in South America?

5. Which is the most plentiful gas in the air?

6. Name the most important layer of the atmosphere?
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Ques E. Label a volcano diagram:
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